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TIME, DISTANCE AND TRAIN

 [ le;] nwjh vkSj jsyxkM+h ]
1. A train is travelling at the rate of 45 km/hr. How

many seconds it will take to cover a distance of
4

5
 km ?

,d jsyxkM+h 45 fdeh@?kaVk dh xfr ls py jgh gSA mls 
4

5

fdeh dh nwjh r; djus esa fdruk le; yxsxk \
(a) 36 sec. (b) 64 sec.
(c) 90 sec. (d) 120 sec.

2. An aeroplane covers a certain distance at a speed
of 240 km/hour in 5 hours. To cover the same

distance in 1
2

3
 hours it must travel at a speed

of ?

,d ok;q;ku ,d fuf'pr nwjh dks 240 fd-@?ka- dh xfr ls

dqy 5 ?k.Vs esa r; djrk gSA ;fn ;gh fuf'pr nwjh 1
2

3
 ?k.Vs

esa r; djuh gks rks ok;q;ku dh vkSlr xfr fdruh gksxh \
(a) 300 km/hr (b) 360 km/hr
(c) 600 km/hr (d) 720 km/hr

3. A train 100m long is running at the speed of 30
km/hr. The time (in second) in which it passes a
man standing near the railway line is ?

100 ehVj yEch jsyxkM+h 30 fdeh@?ka- dh xfr ls py jgh
gSA IysViQkeZ ds fudV [kM+s O;fDr dks ikj djus esa fdruk
le; (lsds.M esa) ysxh ?

(a) 10 (b) 11
(c) 12 (d) 15

4. If a man walks 20 km at 5 km/hr. he will be late
by 40 minutes. If he walks at 8 km/hr, how early
from the fixed time will he reach ?

;fn ,d O;fDr 20 fdeh dh ;k=kk 5 fdeh@?kaVk dh xfr ls
r; djrk gSA rks og fu;r le; ls 40 feuV nsjh ls igq¡prk
gSA ;fn og 8 fdeh@?kaVk ls ;k=kk djs rks crk;sa og fu;r le;
ls fdruk igys igq¡p tk;sxk ?
(a) 15 minutes (b) 25 minutes
(c) 50 minutes (d) 1½ hours

5. A man walking at the rate of 5 km/hr. crosses a
bridge in 15 minutes. The length of the bridge
(in metres) is ?

,d O;fDr 5 fdeh@?kaVk dh xfr ls pyrs gq, ,d iqy dks
15 feuV esa ikj dj ysrk gSA crk;sa iqy dh yEckbZ (ehVj
esa) D;k gksxh ?

(a) 600 (b) 750
(c) 1000 (d) 1250

6. A man crosses a road 250 metres wide in 75
seconds. His speed in km/hr is ?

,d O;fDr 250 ehVj pkSM+h lM+d dks 75 lsds.M esa ikj dj
ysrk gSA mldh xfr fdeh@?kaVk esa crk;sa ?
(a) 10 (b) 12
(c) 12.5 (d) 15

7. The length of a train and that of a platform are
equal. If with a speed of 90 km/hr the train
crosses the platform in one minute, then the
length of the train (in metres) is ?

,d jsyxkM+h rFkk IysViQkeZ dh yEckbZ leku gSA jsyxkM+h 90

fdeh@?kaVk dh xfr ls pyrs gq, IysViQkeZ dks ,d feuV esa
ikj dj ysrh gSA crk;sa jsyxkM+h dh dqy yEckbZ (ehVj esa)
fdruh gS ?
(a) 500 (b) 600
(c) 750 (d) 900

8. A train passes a 50 metres long platform in 14
seconds and a man standing on the platform in
10 seconds. The speed of the train is ?

,d xfreku jsyxkM+h 50 ehVj yEcs IysViQkeZ rFkk IysViQkeZ
ij [kM+s ,d O;fDr dks ikj djus esa Øe'k% 14 rFkk 10

lsds.M dk le; ysrh gSA jsyxkM+h dh xfr crk;sa (fdeh@?kaVk)
esa ?
(a) 24 km/hr (b) 36 km/hr
(c) 40 km/hr (d) 45 km/hr

9. An athlete runs 200 metres race in 24 seconds.
His speed  in (km/hr) is ?

,d /kod 200 ehVj dh jsl 24 lsds.M esa iwjh djrk gSA
mldh xfr fdeh@?kaVk esa crk;sa ?
(a) 20 (b) 24
(c) 28.5 (d) 30

10. A car goes 10 metres in a second. Find its speed
in km/hr ?

,d dkj 1 lsds.M esa 10 ehVj dh nwjh r; djrh gSA dkj dh
xfr fdeh@?kaVk esa Kkr djsa ?
(a) 40 (b) 32
(c) 48 (d) 36

11. A man riding his bicycle covers 150 metres in 25
seconds. What is his speed in km per hour ?

,d O;fDr lkbfdy ls pyrs gq, 150 ehVj dh nwjh dks 25

lsds.M esa r; djrk gSA xfr fdeh@?kaVk esa Kkr djsa ?
(a) 25 (b) 21.6



 BRANCH :  MUKHERJEE NAGAR DELHI / NATHU PURA DELHI / SHAHDARA DELHI / SIKANDRABAD

M o b .  :  0 9 7 1 1 3 7 6 0 0 7,  0 8 3 6 8 1 0 8 2 7 6 [ 248 ]

THATHAGAT

IN
STITUTE

(c) 23 (d) 20
12. A train passes two bridges of lengths 800 m and

400 m in 100 seconds and 60 seconds
respectively. The length of the train is ?

,d jsyxkM+h nks iqyksa ftudh yEckbZ Øe'k% 100 rFkk 400

eh- gS] dks ikj djus esa Øe'k% 100 rFkk 60 lsds.M dk le;
ysrh gSA crk;sa jsyxkM+h dh yEckbZ fdruh gS ?
(a) 80 m (b) 90 m
(c) 200 m (d) 150 m

13. A train is 125 m long. If the train takes 30
seconds to cross a tree by the railway line, then
the speed of the train is ?

,d 125 eh- yEckbZ dh ,d jsyxkM+h jsyos ykbu ds fdukjs
[kM+s ,d isM+ dks ikj djus esa 30 lsds.M dk le; ysrh gS]
xfr crk;sa ?
(a) 14 km/hr (b) 15 km/hr
(c) 16 km/hr (d) 12 km/hr

14. A 120 m long train takes 10 seconds to cross a
man standing on a platform. What is the speed
of the train ?

120 ehVj yEckbZ dh ,d jsyxkM+h IysViQkeZ ij [kM+s ,d
vkneh dks ikj djus esa 10 lsds.M dk le; ysrh gSA jsyxkM+h
dh pky Kkr djsa ?
(a) 12 m/sec (b) 10 m/sec
(c) 15 m/sec (d) 20 m/sec

15. A 75 metre long train is moving at 20 kmph. It
will cross a man standing on the platform in ?

,d 75 eh- yEch jsyxkM+h tks 20 fdeh@?kaVk dh xfr ls py
jgh gS] ,d IysViQkeZ ij [kM+s O;fDr dks ikj djus esa fdruk
le; ysxh ?
(a) 12 seconds (b) 14 seconds
(c) 13.5 seconds (d) 15.5 seconds

16. A train passes a man standing on a platform in
8 seconds and also crosses the platform which
is 264 metres long in 20 seconds. The length of
the train (in metres) is ?

,d jsyxkM+h 264 ehVj yEcs IysViQkeZ rFkk ml ij [kM+s gq,
O;fDr dks ikj djus esa Øe'k% 20 lsds.M rFkk 8 lsds.M dk
le; yxkrh gSA jsyxkM+h dh yEckbZ (ehVj esa) crk;sa ?
(a) 188 (b) 176
(c) 175 (d) 96

17. A man can reach a certain place in 30 hours. If

he reduces his speed by 
1

15
th, he goes 10 km

less in that time. Find his speed per hour ?

,d O;fDr ,d fuf'pr nwjh dks 30 ?k.Vs esa r; djrk gSA

ijUrq ;fn og viuh xfr 
1

15
 Hkkx ?kVk ns rks og mlh le;

esa 10 fdeh dh nwjh de r; dj ikrk gSA O;fDr dh xfr
crk;sa ?

(a) 6 km/hr (b) 5
1

2
km/hr

(c) 4 km/hr (d) 5 km/hr
18. A train is moving with the speed of 180 km/hr.

Its speed (in metres per second) is ?

,d jsyxkM+h 10 fdeh@?kaVk dh xfr ls pyrh gSA mldh xfr
eh@lsds.M esa fdruh gksxh ?
(a)  5 (b) 40
(c) 30 (d) 50

19. A train takes 18 seconds to pass through a
platform 162 m long and 15 seconds to pass
through another platform 120 m long. The length
of the train (in metre) is ?

,d jsyxkM+h 162 ehVj yEcs IysViQkeZ dks ikj djus esa 18

lsds.M rFkk 120 ehVj yEcs IysViQkeZ dks ikj djus esa 15

lsds.M dk le; ysrh gSA crk;sa jsyxkM+h dh yEckbZ (ehVj
esa) fdruh gS ?
(a)  70 (b) 80
(c) 90 (d) 105

20. A 120 metre long train is running at a speed of
90 km per hour. It will cross a railway platform
230 m long in ?

,d 120 ehVj yEch jsyxkM+h 90 fdeh@?kaVk dh xfr ls pyrs
gq, 230 ehVj yEcs IysViQkeZ dks ikj djus esa fdruk le;
ysxk ?

(a) 4
4

5
 seconds (b) 9

1

5
 seconds

(c) 7 seconds (d) 14 seconds
21. If a train, with a speed of 60 km/hr, crosses a

pole in 30 seconds the length of the train (in
metres) is ?

60 fdeh@?kaVk dh xfr ls pyrs gq, ,d jsy ,d [kaHks dks ikj
djus esa 30 lsds.M dk le; ysrh gSA jsy dh yEckbZ (ehVj
esa) crk;sa ?
(a) 1000 (b) 900
(c) 750 (d) 500

22. Two cars start at the same time from one point
and move along two roads at right angles to each
other. Their speeds are 36 km/hr and 48 km/hr
respectively. After 15 seconds the distance
between them will be ?

nks dkjsa ,d fuf'pr fcUnq ls ledks.k fn'kk esa c<+us okyh nks
vyx&vyx lM+dksa ij leku le; ij pyuk izkjaHk djrh
gSaA ;fn mudh xfr;k¡ Øe'k% 36 fdeh@?kaVk rFkk 48 fdeh@?kaVk
gks rks 15 lsds.M ds ckn muds chp dh nwjh fdruh gksxh ?
(a) 400 m (b) 150 m
(c) 300 m (d) 250 m

23. A train travelling at a speed of 30 m/sec crosses
a platform, 600 metres long in 30 seconds. The
length (in metres) of train is ?

30 eh@lsds.M dh xfr ls pyus okyh ,d jsyxkM+h 600 ehVj
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yEcs IysViQkeZ dks ikj djus esa 30 lsds.M dk le; ysrh gSA
jsyxkM+h dh yEckbZ crk;sa (ehVj esa) ?

(a) 120 (b) 150
(c) 200 (d) 300

24. A train, 120 m long, takes 6 seconds to pass a
telegraph post; the speed of train is ?

,d 120 ehVj yEch jsyxkM+h ,d VsyhxzkiQ iksLV dks ikj
djus esa 6 lsds.M dk le; ysrh gSA jsyxkM+h dh xfr crk;sa
(fdeh@?kaVk) esa ?
(a) 72 km/hr (b) 62 km/hr
(c) 55 km/hr (d) 85 km/hr

25. The ratio of length of two trains is 5 : 3 and the
ratio of their speed is 6 : 5. The ratio of time
taken by them to cross a pole is ?

nks jsyxkfM+;ksa dh xfr;ksa dk vuqikr 6 : 5 rFkk mudh
yEckbZ;ksa dk vuqikr 5 : 3 gSA ,d [kaHks dks ikj djus esa fy;s
x;s muds le; dk vuqikr D;k gksxk ?
(a) 5 : 6 (b) 11 : 8
(c) 25 : 18 (d) 27 : 16

26. A train passes a platform 60 metre long in 30
seconds and a man standing on the platform in
15 seconds. The speed of the train is ?

,d jsyxkM+h IysViQkeZ ij [kM+s ,d O;fDr rFkk 60 ehVj
yEcs IysViQkeZ dks ikj djus esa Øe'k% 15 rFkk 30 lsds.M
dk le; ysrh gSA jsy dh xfr crk;sa ?
(a) 12.4 kmph (b) 14.4 kmph
(c) 18.4 kmph (d) 21.6 kmph

27. A train 300 metres long is running at a speed of
25 metres per second. It will cross a bridge of
200 metres in ?

,d 300 ehVj yEch jsyxkM+h 25 ehVj@lsds.M dh xfr ls
pyrs gq, 200 ehVj yEcs IysViQkeZ dks ikj djus esa fdruk
le; ysxh ?
(a) 5 seconds (b) 10 seconds
(c) 20 seconds (d) 25 seconds

28. A train 800 metres long is running at a speed of
78 km/hr. If it crosses a tunnel in 1 minutes,
then the length of the tunnel (in metres) is ?

,d 800 ehVj yEch jsyxkM+h 78 fdeh@?kaVk dh xfr ls pyrs
gq, ,d lqjax dks 1 feuV esa ikj dj ysrh gSA crk;sa ml lqjax
dh yEckbZ (ehVj esa) fdruh gksxh ?
(a) 77200 (b) 500
(c) 1300 (d) 13

29. A train is moving at a speed of 132 km/hour. If
the length of the train is 110 metres, how long
will it take to cross a railway platform 165 metres
long ?

,d 110 ehVj yEch jsyxkM+h tks 132 fdeh@?kaVk dh xfr ls
py jgh gSA mls ,d 165 ehVj yEcs iqy dks ikj djus esa
fdruk le; yxsxk ?

(a) 5 seconds (b) 7.5 seconds

(c) 10 seconds (d) 15 seconds
30. In what time will a train 100 metres long cross

an electric pole, if its speed be 144 km/hr. ?

100 ehVj yEch jsyxkM+h tks 144 fdeh@?kaVk dh xfr ls py
jgh gS] dks ,d [kaHks dks ikj djus esa fdruk le; yxsxk ?
(a) 2.5 seconds (b) 5 seconds

(c) 12.5 seconds (d) 3
5

4
 seconds

31. A man observed that a train 120 metre long
crosses him in 9 seconds. The speed (in km/hr)
of the train was ?

,d O;fDr us ik;k fd 120 ehVj yEch jsyxkM+h mls 9

lsds.M esa ikj dj tkrh gSA jsyxkM+h dh xfr (fdeh@?kaVk) esa
crk;sa ?
(a) 42 (b) 45
(c) 48 (d) 55

32. A truck covers a distance of 550 metres in 1
minute whereas a bus covers a distance of 33
kms in 45 minutes. The ratio of their speed is ?

,d Vªd 1 feuV esa 550 ehVj dh nwjh r; djrk gS tcfd
,d cl 33 fdeh dh nwjh 45 feuV esa r; djrh gSA Vªd rFkk
cl dh xfr;ksa dk vuqikr crk;sa ?
(a) 4 : 3 (b) 3 : 5
(c) 3 : 4 (d) 50 : 3

33. A train moves past a telegraph post and a bridge
264 m long in 8 seconds and 20 seconds
respectively. What is the speed of the train ?

,d xfreku jsyxkM+h ,d VsyhxzkiQ iksLV rFkk 264 ehVj yEcs
iqy dks ikj djus esa Øe'k% 8 lsds.M rFkk 20 lsds.M dk
le; ysrh gSA jsyxkM+h dh xfr crk;sa ?
(a) 69.5 km/hr (b) 70 km/hr
(c) 79 km/hr (d) 79.2 km/hr

34. A person standing on a railway platform noticed
that a train took 21 seconds to completely pass
through the platform which was 84 m long and
it took 9 seconds in passing him. The speed of
the train was ?

84 ehVj yEcs ,d jsyos IysViQkeZ ij [kM+s ,d O;fDr us
vuqHko fd;k fd vkrh gqbZ ,d jsyxkM+h mls rFkk IysViQkeZ
dks ikj djus esa Øe'k% 9 lsds.M rFkk 21 lsds.M dk le;
ysrh gSA jsy dh xfr crk;sa ?
(a) 25.2 km/hr (b) 32.4 km/hr
(c) 50.4 km/hr (d) 75.6 km/hr

35. A boy runs 20 km in 2.5 hours. How long will he
take to run 32 km at double the previous speed?

,d O;fDr 2.5 ?kaVs esa 20 fdeh dh nwjh r; dj ldrk gSA
;fn og viuh xfr dks nqxquk dj ns rks mls 32 fdeh dh nwjh
r; djus esa fdruk le; yxsxk ?
(a) 2 hours (b) 2½ hours
(c) 4½hours (d) 5 hours

36. A train with a uniform speed passes a platform
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122 metres long, in 17 seconds and a bridge 210
metres long in 25 seconds. The speed of the train
is ?

,d leku xfr ls pyrs gq, ,d jsyxkM+h ,d 122 ehVj
yEcs IysViQkeZ dks 17 lsds.M esa rFkk ,d iqy 210 ehVj
yEcs dks ikj djus esa 25 lsds.M dk le; ysrh gSA jsyxkM+h
dh xfr crk;sa ?
(a) 46.5 km/hr (b) 37.5 km/hr
(c) 37.6 km/hr (d) 39.6 km/hr

37. A moving train crosses a man standing on a
platform and a bridge 300 metres long in 10
seconds and 25 seconds respectively. What will
be the time taken by the train to cross a platform
200 metres long ?

,d xfreku jsy 300 ehVj yEcs IysViQkeZ rFkk ml ij [kM+s
O;fDr dks Øe'k% 25 lsds.M rFkk 10 lsds.M esa ikj dj
ysrh gSA crk;sa ;g jsyxkM+h ,d 200 ehVj yEcs IysViQkeZ dks
ikj djus esa fdruk le; ysxh ?

(a) 16
2

3
 seconds (b) 18 seconds

(c) 20 seconds (d) 22 seconds
38. A train passes a platform 110 m long in 40

seconds and a boy standing on the platform in
30 seconds. The length of the train is ?

,d jsy 110 ehVj yEcs IysViQkeZ dks 40 lsds.M rFkk
IysViQkeZ ij [kM+s yM+ds dks 30 lsds.M esa ikj dj ysrh gSA
jsyxkM+h dh yEckbZ crk;sa ?
(a) 100 metres (b) 110 metres
(c) 220 metres (d) 330 metres

39. A train, with a uniform speed, crosses a platform
162 metres long in 18 seconds and another
platform, 120 metres long in 15 seconds. The
speed of the train is ?

,d jsyxkM+h ,d leku xfr ls pyrs gq, ,d 162 ehVj
yEcs IysViQkeZ dks 18 lsds.M rFkk 120 ehVj yEcs IysViQkeZ
dks 15 lsds.M esa ikj djrh gSA jsyxkM+h dh xfr crk;sa ?
(a) 14 km/hr (b) 42 km/hr
(c) 50.4 km/hr (d) 67.2 km/hr

40. A train travelling with uniform speed crosses two
bridges of lengths 300 m and 240 m in 21 seconds
18 seconds respectively. The speed of the train
is ?

300 ehVj rFkk 240 ehVj yEcs nks iqyksa dks ikj djus esa ,d
jsyxkM+h }kjk Øe'k% 21 lsds.M 18 lsds.M dk le; fy;k
tkrk gSA jsyxkM+h dh xfr (fdeh@?kaVk) crk;sa ?
(a) 72 km/hr (b) 68 km/hr
(c) 65 km/hr (d) 60 km/hr

41. A train, 110 m long is running at a speed of 60
km/hr. How many seconds does it take to cross
another train, 170 m long standing on parallel
track ?

60 fdeh@?kaVk dh xfr ls pyus okyh ,d 110 eh yEcs jsy
IysViQkeZ ij [kM+h gqbZ nwljh 170 eh yEch jsyxkM+h dks ikj
djus esa fdruk le; ysxh ?

(a) 15.6 sec (b) 16.8 sec
(c) 17.2 sec (d) 18 sec

42. A train is running at 36 km/hr. If it crosses a
pole in 25 seconds, its length is ?

,d jsyxkM+h 36 fdeh@?kaVk dh jÝrkj ls nkSM+ jgh gSA ;fn ;g
jsyxkM+h ,d [kEcs dks 25 lsds.M esa ikj djs rks bldh yEckbZ
gksxh ?

(a) 248 meter (b) 250 meter
(c) 255 meter (d) 260 meter

43. The speed of two trains are in the ratio 6 : 7. If
the second train runs 364 km in 4 hours, then
the speed of first train is ?

nks jsyxkfM+;ksa dh xfr;ksa dk vuqikr 6 : 7 gSA ;fn nwljh
jsyxkM+h 4 ?kaVksa esa 364 fdeh tkrh gS] rks igyh jsyxkM+h dh
xfr crk;sa ?
(a) 60 km/hr (b) 72 km/hr
(c) 78 km/hr (d) 84 km/hr

44. Walking at the rate of 4 km an hour, a man
covers a certain distance in 3 hours 45 minutes.
If he covers the same distance on cycle, cycling
at the rate of 16.5 km/hour, the time taken by
him is ?

,d O;fDr 4 fdeh@?kaVk dh xfr ls pyrs gq, ,d fuf'pr
nwjh dks 3 ?k.Vs 45 feuV esa r; djrk gSA ;fn og ;g fuf'pr
nwjh lkbZfdy }kjk 16.5 fdeh@?kaVk ls r; djs rks mls fdruk
le; yxsxk ?

(a) 55.45 minutes (b) 54.55 minutes
(c) 55.44 minutes (d) 45.55 minutes

45. A train crosses a pole in 15 seconds and a
platform 100 metres long in 25 seconds. Its
length (in metres) is ?

,d jsyxkM+h ,d [kaHks dks 15 lsds.M rFkk 100 ehVj yEcs
IysViQkeZ dks 25 lsds.M esa ikj djrh gSA jsyxkM+h dh yEckbZ
(ehVj esa) crk;sa ?
(a) 50 (b) 100
(c) 150 (d) 200

46. A train of length 500 feet crosses a platform of
length 700 feet in 10 seconds. The speed of the
train is ?

,d 500 iQhV yEch jsyxkM+h ,d 700 iQhV yEcs IysViQkeZ
dks ikj djus esa 10 lsds.M dk le; ysrh gSA crk;sa jsyxkM+h
dh xfr fdruh gksxh ?

(a) 70 feet/second (b) 85 feet/second
(c) 100 feet/second (d) 120 feet/second

47. The speed of 90 km/hour is same as ?

90 fdeh@?kaVk dh xfr fdlds leku gS ?
(a) 9 m/s (b) 20 m/s
(c) 25 m/s (d) 28 m/s
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48. The speed of a bus is 72 km/hr. The distance
covered by the bus in 5 seconds is ?

,d cl dh xfr 72 fdeh@?kaVk gSA cl }kjk 5 lsds.M esa r;
dh xbZ nwjh crk;sa ?
(a) 100 m (b) 60 m
(c) 50 m (d) 74.5 m

49. A train starts from a place A at 6 a.m. and arrives
at another place B at 4.30 p.m. on the same
day. If the speed of the train is 40 km per hour,
find the distance travelled by the train ?

,d jsyxkM+h LFkku A ls izkr% 6 cts pyuk izkjEHk djrh gS
rFkk LFkku B ij mlh fnu 'kke 4:30 cts igq¡p tkrh gSA ;fn
jsyxkM+h dh xfr 40 fdeh@?kaVk gks rks jsyxkM+h }kjk r; dh
x;h nwjh crk;sa ?
(a) 320 km (b) 230 km
(c) 420 km (d) 400 km

50. A train covers a distance of 10 km in 12 minutes.
If its speed is decreased by 5 km/hr. the time
taken by it to cover the same distance will be ?

,d jsyxkM+h 10 fdeh- dh nwjh 12 feuV esa r; djrh gSA ;fn
mldh xfr 5 fdeh@?kaVk de dj ns rks mlh nwjh dks r; djus
esa fy;k x;k le; crk;sa ?
(a) 10 minutes
(b) 13 minutes 20 seconds
(c) 13 minutes
(d) 11 minutes 20 seconds

51. A man walks 'a' km in 'b' hours. The time taken
to wal 200 metres is ?

,d O;fDr a fdeh dh nwjh dks b ?kaVksa esa r; djrk gSA mls
200 ehVj dks r; djus esa fy;k tkus okyk le; Kkr djsa ?

(a) 
200b

a
 hours (b) 

b

5a
 hours

(c) 
b

a
 hours (d) 

ab

200

52. The speed 3
1

3
 m/sec when expressed in km/hour

becomes ?

xfr 3
1

3
 eh@lsds.M dks fdeh@?kaVk esa Kkr djsa ?

(a) 8 (b) 9
(c) 10 (d) 12

53. A train is running at a speed of 90 km/hr. If
crosses a signal in 10 sec., the length of the train
(in metres) is ?

,d jsyxkM+h dh xfr 90 fdeh@?kaVk gSA ;fn ;g ,d [kEHks dks
ikj djus esa 10 lsds.M dk le; ysrh gSA jsyxkM+h dh yEckbZ
(ehVj esa) Kkr djsa ?
(a) 150 (b) 324
(c) 900 (d) 250

54. The speed of 10 m/s is the same as ?

10 eh@lsds.M dh xfr fdlds leku gS ?
(a) 63 km/hr (b) 36 km/hr
(c) 69 km/hr (d) 18 km/hr

55. A train covers a distance of 20 km in 24 minutes.
If its speed is decreased by 5 km/hr. the time
taken by it to cover the same distance will be ?

,d jsyxkM+h 20 fdeh dh nwjh 24 feuV esa r; djrh gSA ;fn
mldh xfr 5 fdeh@?kaVk de dj nh tk,] rks mlh fuf'pr
nwjh dks r; djus esa mlds }kjk fy;k tkus okyk le; crk;sa
?
(a) 10 minutes
(b) 26 minutes 40 seconds
(c) 13 minutes
(d) 11 minutes 20 seconds

56. Two trains A and B start from station X and Y
towards each other, they take 4 hours 48
minutes and 3 hours 20 minutes to reach Y and
X respectively after they meet if train A is moving
at 45 km/hr., then the speed of the train B is ?

nks jsyxkfM+;k¡ A rFkk B LVs'kuksa X rFkk Y ls ,d&nwljs dh
rjiQ pyuk izkjaHk djrh gSaA os Y rFkk X LVs'kuksa rd igq¡pus
esa Øe'k% 4 ?kaVs 48 feuV rFkk 3 ?kaVs 20 feuV dk le; ysrh
gSa ;fn jsy A dh xfr 45 fdeh@?kaVk gksA crk;sa jsyxkM+h B dh
xfr fdruh gksxh ?
(a) 60 km/hr (b) 64.8 km/hr
(c) 54 km/hr (d) 37.5 km/hr

57. A bullock cart has to cover a distance of 120 km

in 15 hours. If it covers half of the journey in 
3

5

the time, the speed to cover the remaining
distance in the time left has to be ?

,d cSyxkM+h 120 fdeh dh nwjh dks 15 ?k.Vksa esa r; djrh

gSA ;fn og vk/h ;k=kk 
3

5
 le; esa r; djrh gS rks crk;sa cps

gq, le; esa 'ks"k nwjh dks r; djus esa vkSlr xfr D;k gksxh
?
(a) 6.4 km/hr (b) 6.67 km/hr
(c) 10 km/hr (d) 15 km/hr

58. A train covers a certain distance in 210 minutes
at a speed of 60 kmph. The time taken by the
train to cover the same distance at a speed of 80
kmph is ?

,d dkj ,d fuf'pr nwjh 60 fdeh@?kaVk dh xfr ls 210

feuV esa r; djrh gSA jsyxkM+h }kjk mlh fuf'pr nwjh dks r;
djus esa 80 fdeh@?kaVk dh xfr ls yxk le; Kkr djsa ?

(a) 3
5

8
 hours (b) 2

5

8
 hours

(c) 4
5

8
 hours (d) 3 hours

59. A speed of 30.6 km/hr is the same as ?
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30.6 fdeh@?kaVk dh xfr eh-@lsds.M esa Kkr djsa ?
(a) 8.5 m/sec (b) 10 m/sec
(c) 12 m/sec (d) 15.5 m/sec

60. A man covers 
9

20
 by bus and the remaining 10

km on foot. His total journey (in km) is ?

,d O;fDr viuh dqy ;k=kk dk 
9

20
 Hkkx cl }kjk r; drk

gSA 'ks"k cph nwjh 10 fdeh- og iSny pydj r; djrk gSA
mldh dqy ;k=kk dh yEckbZ (fdeh esa) crk;sa ?
(a) 15.6 (b) 24
(c) 18.18 (d) 12.8

61. A train 200 m long running at 36 kmph takes 55
seconds to cross a bridge. Length of bridge is ?

,d 200 ehVj yEch jsyxkM+h 36 fdeh izfr ?kaVk dh xfr ls
pyrs gq, ,d iqy dks 55 lsds.M dk le; ysrh gSA crk,a
iqy dh yEckbZ D;k gS ?
(a) 375 m (b) 300 m
(c) 350 m (d) 325 m

62. A train 270 metres long is running at a speed of
36 km per hour then it will cross a bridge of
length 180 metres in ?

270 ehVj yach ,d jsyxkM+h dks 36 fdeh izfr ?kaVk dh xfr
ls pyrs gq, 180 ehVj yEcs iqy dks ikj djus esa fdruk
le; yxsxk ?
(a) 40 sec (b) 45 sec
(c) 50 sec (d) 35 sec

63. The ratio of length of two trains is 4 : 3 and the
ratio of their speed is 6 : 5. The ratio of time
taken by them to cross a pole is ?

nks jsyxkfM+;ksa dh yEckbZ 4 : 3 rFkk mudh pkysa 6 : 5 vuqikr
gSA fdlh [kEHks dks ikj djus esa muds }kjk fy;k x;k le;
dk vuqikr gS ?

(a) 5 : 6 (b) 11 : 8
(c) 20 : 18 (d) 27 : 16

64. A distance is covered by a cyclist at a certain
speed. If a jogger covers half the distance in
double the time, the ratio of the speed of the
jogger to that of the cyclist is ?

,d lkbfdy okyk fuf'pr nwjh dks fuf'pr xfr ls r; djrk
gSA ,d tkWxj mlls vk/h nwjh dks nqxquh le; esa r; djrk
gSA tkWxj rFkk lkbfdy okys dh xfr;ksa dk vuqikr crkb,?

(a) 1 : 4 (b) 4 : 1
(c) 1 : 2 (d) 2 : 1

65. A train is moving at a speed of 80 km/h and
covers a certain distance in 4.5 hours. The speed
of the train to cover the same distance in 4 hours
is ?

,d jsyxkM+h 80 fdeh@?kaVs dh xfr ls pyrs gq, ,d fuf'pr
nwjh dks 4.5 ?k.Vksa esa r; djrh gSA vxj ogh nwjh 4 ?k.Vs esa

r; djuh gks] rks vkSlr xfr D;k gksxh ?

(a) 100 km/h (b) 70 km/h
(c) 85 km/h (d) 90 km/h

66. The speed of 50.4 km/hr is same as ?

50.4 fdeh@?kaVk dh xfr fdlds leku gS ?

(a) 14 m/s (b) 15 m/s
(c) 28 m/s (d) 10 m/s

67. A train passes by a lamp post on platform in 7
seconds and passes by the platform completely
in 28 second. If the length of the platform is 390
m, then length of the train (in metres) is ?

,d jsyxkM+h 390 ehVj yacs IysViQkeZ rFkk IysViQkeZ ij [kM+s
ySEi iksLV dks ikj djus esa Øe'k% 28 lsds.M rFkk 7 lsds.M
dk le; ysrh gSA jsyxkM+h dh yackbZ (ehVj esa) crkb, ?
(a) 120 (b) 130
(c) 140 (d) 150

68. A train moving at a rate of 35 km/hr crosses a
standing man in 10 seconds. It will cross a
platform 55 metres long in ?

36 fdeh@?kaVs dh xfr ls py jgh ,d jsyxkM+h] ,d [kM+s gq,
O;fDr dks 10 lsds.M esa ikj djrh gSA crk,a 55 ehVj yacs
IysViQkeZ dks fdrus le; esa ikj dj ik,xk ?

(a) 6 seconds (b) 7 seconds

(c) 15
1

2
 seconds (d) 5

1

2
 seconds

69. A train crosses a platform in 30 seconds
travelling with a speed of 60 km/h. If the length
of the train be 200 metres, then the length (in
metres) of the platform is ?

,d 200 ehVj yEch jsyxkM+h 60 fdeh@?k.Vk dh xfr ls
pyrs gq, IysViQkeZ dks 30 lsds.M esa ikj dj ysrh gSA crk,a
IysViQkeZ dh yackbZ (eh- esa) D;k gksxh ?

(a) 400 (b) 300
(c) 200 (d) 500

70. Ram travelled 1200 km by air which formed 2/5
of his trip. He travelled one-third of the trip by
car and the rest by train. The distance (in km)
travelled by train was ?

,d ok;q;ku }kjk 1200 fdeh dh nwjh r; djrk gS ftlls og
;k=kk dk 2/5 Hkkx r; dj ysrk gSA ,d ,d&frgkbZ Hkkx dkj
}kjk rFkk 'ks"k cpk gqvk Hkkx jsyxkM+h }kjk r; djrk gSA
jsyxkM+h }kjk r; dh x;h nwjh (fdeh esa) Kkr djsa ?

(a) 480 (b) 800
(c) 1600 (d) 1800

71. The distance between place A and B is 999 kg.
An express train leaves place A at 6 am and runs
at a speed of 55.5 km/hr. The train stops on the
way for 1 hour 20 minutes. It reaches B at ?

nks LFkkuksa A rFkk B ds chp dh nwjh 999 fdeh gSA ,d
,Dlizsl jsyxkM+h LFkku A ls izkr% 6 cts 55.5 fdeh@?kaVk dh
xfr ls pyuk izkjEHk djrh gSA ;g jsyxkM+h jkLrs esa 1 ?k.Vk
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20 feuV :drh gSA crk,a og LFkku B rd fdl le; igq¡p
ldsxh ?

(a) 1:20 am (b) 12 pm
(c) 6 pm (d) 11 pm

72. A man  is walking at a speed of 10 kmph. After
every km, he takes a rest for 5 minutes. How
much time will he take to cover a distance of 5
km ?

,d vkneh 10 fdeh izfr ?kaVk dh jÝrkj ls pyrk gS rFkk
izR;sd fdeh ds ckn 5 feuV dk foJke djrk gSA og 5 fdeh
dh nwjh fdruh nsj esa r; djsxk \
(a) 60 minutes (b) 50 minutes
(c) 55 minutes (d) 70 minutes

73. A train covers a distance of 10 km in 12 minutes.
If its speed is decreased by 5 km/hr, the time
taken by it to cover the same distance is equal
to ?

,d jsyxkM+h 10 fdeh dh nwjh dks 12 feuV esa r; djrh gSA
;fn bldh xfr 5 fdeh@?kaVk de dj nh tk, rks crk,a vc
og fuf'pr nwjh dks r; djus esa fdruk le; ysxk ?

(a) 40 minutes (b) 
40

3
 minutes

(c) 20 minutes (d) 15 minutes
74. A is twice as fast as B and B is thrice as fast as

C is. The journey covered by C in 1½ hours will
be covered by A in ?

A, B ls nksxquk rFkk B, C ls rhu xquk rst nkSM+rk gSA ;fn C
,d fuf'pr ;k=kk dks 1½ ?k.Vs esa iwjh djs rks crk,a A fdrus
le; esa iwjh djsxk ?

(a) 15 minutes (b) 2 minutes
(c) 30 minutes (d) 1 hour

75. A truck travels at 90 km/hr for the first 1½
hours. After that it travels at 70 km/hr. Find
the time taken by the truck to travel 310
kilometres. ?

,d Vªd 90 fdeh@?kaVk dh xfr ls igys 1½ ?k.Vs rd pyrk
gSA blds ckn og viuh xfr 70 fdeh@?k.Vk j[krk gSA crk,a
Vªd dks 310 fdeh dh nwjh r; djus esa dqy fdruk le;
yxsxk ?

(a) 2.5 hrs (b) 3 hrs
(c) 3.5 hrs (d) 4 hrs

76. A car travels at a speed of 60 km/hr and covers
a particular distance in one hour. How long will
it take for another car to cover the same distance
at 40 km/hr ?

,d dkj 60 fdeh@?kaVk dh xfr ls pyrs gq, ,d fuf'pr nwjh
dks 1 ?k.Vs esa r; djrh gSA crk,a ,d vU; dkj tks 40

fdeh@?k.Vk dh xfr ls py jgh gS] dks bl nwjh dks r; djus
esa dqy fdruk le; yxsxk ?

(a) 
5

2
 hours (b) 2 hours

(c) 
3

2
 hours (d) 1 hour

77. A train 50 metres long passes a platform of
length 100 metres in 10 seconds. The speed of
the train in metre/second is?

,d xfr'khy 50 ehVj yEch jsyxkM+h] ,d 100 ehVj yEckbZ
ds IysViQkeZ dks ikj djus esa 10 lsds.M dk le; ysrh gSA
jsyxkM+h dh xfr (ehVj@lsds.M) esa crk,a ?

(a)50 (b) 10
(c) 15 (d) 20

78. A train 300 m long is running with a speed of 54
km/hr. In what time will it cross a telephone
pole ?

,d 300 ehVj yEch jsyxkM+h] 54 fdeh@?k.Vk dh xfr ls
pyrs gq, ,d [kaHks dks ikj djus esa fdruk le; ysxh ?

(a) 20 seconds (b) 15 seconds
(c) 17 seconds (d) 18 seconds

79. A train travelling at a speed of 55 km/hr travels
from place X to place Y in 4 hours. If its speed in
increased by 5 km/hr., then the time of journey
is reduced by ?

,d jsyxkM+h 55 fdeh@?k.Vk dh xfr ls X LFkku ls Y rd
tkus esa dqy 4 ?k.Vs dk le; ysrh gSA ;fn mldh xfr 5
fdeh@?k.Vk c<+k nh tk, rks crk,a vc u;k le; fdruk de
yxsxk ?

(a) 25 minutes (b) 35 minutes
(c) 20 minutes (d) 30 minutes

80. A speed of 45 km per hour is the same as ?

45 fdeh@?kaVk dh xfr eh-@ls- esa crk;sa ?

(a) 12.5 metre/second (b) 13 metre/second
(c) 15 metre/second (d) 12 metre/second

81. If a distance of 50 m is covered in 1 minutes,
then 90 m in 2 minutes and 130 m in 3 minutes.
Find the distance covered in 15th minute ?

;fn ,d O;fDr 1 feuV esa 50 ehVj] 2 feuV esa 90 ehVj
rFkk 3 feuV esa 130 ehVj dh nwjh r; djrk gSA crk,a og
15 osa feuV esa fdruh nwjh r; djsxk ?
(a) 610 m (b) 750 m
(c) 1000 m (d) 650 m

82. If a person travels from a point L towards east
for 12 km and then travels 5 km towards north
and reaches a point M, then shortest distance
from L to M is ?

;fn ,d O;fDr L fcUnq ls iwoZ dh vksj 12 fdeh pyrk gS
vkSj fiQj mÙkj dh rjiQ 5 fdeh pyrk gSA M fcUnq ij
igq¡prk gS rks L vkSj M ds chp dh U;wure nwjh D;k gksxh ?

(a) 12 km (b) 14 km
(c) 17 km (d) 13 km

83. A train runs at an average speed of 75 km/hr. If
the distance to be covered is 1050 kms. How long
will the train take to cover it ?
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,d Vªsu 75 fdeh@?kaVs dh vkSlr xfr ls py jgh gSA ;fn mls
1050 fdeh dh nwjh r; djuh gS rks og fdrus le; esa ;g
nwjh r; dj ysxh ?

(a) 13 hours (b) 12 hours
(c) 15 hours (d) 14 hours

84. A train 180 metre long is running at a speed of
90 km/h. How long will it take to pass a post ?

180 ehVj yEch ,d Vªsu 90 fdeh@?kaVs dh xfr ls py jgh
gS] rks ,d [kaHks dks fdrus le; esa ikj dj ysxh \
(a) 8.2 secs (b) 8 secs
(c) 7.2 secs (d) 7.8 secs

85. 2 km  5 m is equal to ?

2 fdeh 5 ehVj fdlds cjkcj gS \
(a) 2.5 km (b) 2.005 km
(c) 2.0005 km (d) 2.05 km

86. How many seconds will a train 120 metres long
running at a rate of 36 km/hr take to cross a
bridge of 360 metres in length ?

36 fdeh@?kaVs dh xfr ls py jgh 120 ehVj yEch ,d
jsyxkM+h fdrus lsds.M esa 360 ehVj yEcs iqy dks ikj
djsxh \
(a) 48 sec (b) 36 sec
(c) 46 sec (d) 40 sec

87. The diameter of each wheel of car is 70 cm. If
each wheel rotates 400 times per minutes, then

the speed of the car (in km/hr) if 
22

Take
7


 
  
 

 ?

,d dkj ds izR;sd ifg;s dk O;kl 70 lseh gSA ;fn izR;sd
ifg;k izfr feuV 400 ckj ?kwerk gS] rks dkj dh xfr

fdeh@?kaVk esa D;k gksxh ? 
22

7


 
  
 
ekuk

(a) 5.28 (b) 528
(c) 52.8 (d) 0.528

88. A train passes an electrical pole in 20 seconds
and passes a platform 250 m long in 45 seconds.
Find the length of the train ?

,d jsyxkM+h ,d fctyh ds [kaHks ds lkeus ls 20 lsds.M esa
xqtjrh gS vkSj 250 ehVj yEcs IysViQkeZ ls 45 lsds.M esa
xqtjrh gSA jsyxkM+h dh yEckbZ Kkr djsa \
(a) 200 m (b) 250 m
(c) 300 m (d) 400 m

89. A car goes 20 metres in a second. Find its speed
in km/hr ?

,d dkj ,d lsds.M esa 20 ehVj pyrh gSA mldh fdeh@?kaVs
esa xfr Kkr dhft, \
(a) 20 (b) 18
(c) 72 (d) 36

90. A train passes two bridges of length 500 m and
250 m in 100 seconds and 60 seconds
respectively. The length of the train is ?

,d jsyxkM+h 500 ehVj vkSj 250 ehVj yEcs nks iqyksa dks
Øe'k% 100 lsds.M vkSj 60 lsds.M esa ikj dj ysrh gSaA
jsyxkM+h dh yEckbZ fdruh gS \
(a) 125 m (b) 250 m
(c) 120 m (d) 152 m

91. A train is 250 m long. If the train takes 50
seconds to cross a tree by the railway line, then
the speed of the train in km/hr is ?

,d jsyxkM+h 250 ehVj yEch gSA ;fn og jsyos ykbZu }kjk
ò{k dks ikj djus esa 50 lsds.M ysrh gS rks mldh xfr fdruh
fdeh@?kaVk gS ?
(a) 9 (b) 5
(c) 18 (d) 10

92. Each wheel of a car is making 5 revolutions per
seconds. If the diameter of a wheel is 84 cm,
then the speed of the car in cm/sec. would be ?

,d dkj dk izR;sd ifg;k izfr lsds.M 5 pDdj dkVrk gSA
;fn ifg;s dk O;kl 84 lseh gS] rks dkj dh xfr lseh@lsds.M
esa D;k gksxh \
(a) 420 cm/sec (b) 264 cm/sec
(c) 1000 cm/sec (d) 1320 cm/sec

93. Walking at the rate of 4 kmph a man covers
certain distance in 2 hrs 45 min. Running at a
speed of 16.5 kmph the man will cover the same
distance in how many minutes ?

4 fdeh@?kaVs dh xfr ls pyrs gq, ,d O;fDr 2 ?kaVs 45 feuV
esa ,d fuf'pr nwjh r; djrk gSA rks og 16.5 fdeh@?kaVs dh
xfr ls nkSM+rs gq, fdrus le; esa ogh nwjh r; djsxk \
(a) 35 min (b) 40 min
(c) 45 min (d) 50 min

94. A man rides at the rate of 18 km/hr, but stops
for 6 mins to changes horses at the end of every
7 km. The time that he will take to cover a
distance of 90 km is ?

,d O;fDr 18 fdeh@?kaVk dh xfr ls ?kksM+s dh lokjh djrk
gSA ijUrq izR;sd 7 fdeh dh nwjh ij ?kksM+k cnyus ds fy, 6
feuV :drk gSA crk,a 90 fdeh dh nwjh dks r; djus esa og
fdruk le; ysxk \
(a) 6 hrs (b) 6 hrs 12 min
(c) 6 hrs 18 min (d) 6 hrs 24 min

95. The distance between 2 places R and S is 42 km.
Anita starts from R with a uniform speed of 4
km/hr towards S and at the same time Romita
starts from S towards R also with same uniform
speed. They meet each other after 6 hours. The
speed of Romita is ?

nks LFkkuksa R vkSj S ds chp nwjh 42 fdeh gSA vfurk 4

fdeh@?kaVk dh leku xfr ls R ls S dh vksj pyuk 'kq:
djrh gS vkSj mlh le; jksferk Hkh dqN&dqN leku xfr ls
S ls R dh vksj pyuk 'kq: djrh gSA os 6 ?kaVs ckn ,d&nwljs
ls feyrh gSaA jksferk dh xfr fdruh gS \
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(a) 18 km/hour (b) 20 km/hour
(c) 3 km/hour (d) 8 km/hour

96. A train 180 m long moving at the speed of 20 m/
sec over-takes a man moving at a speed of 10
m/sec in the same direction. The train passes
the man in ?

,d 180 ehVj yEch jsyxkM+h 20 eh@ls dh xfr ls pyrs gq,
leku fn'kk esa 10 eh@ls dh xfr ls py jgs vkneh dks ikj
djus esa fdruk le; ysxh \
(a) 6 sec (b) 9 sec
(c) 18 sec (d) 27 sec

97. The distance between two cities A and B is 330
km. A train starts from A at 8 am and travels
towards B at 60 km/hr. Another train starts from
B at 9 am and travels towards A at 75 km/hr. At
what time do they meet ?

nks LFkkuksa A rFkk B ds chp dh nwjh 330 fdeh gSA ,d
jsyxkM+h LFkku  A ls izkr% 8 cts 60 fdeh@?kaVs dh xfr ls B
dh vksj rFkk ,d vU; jsyxkM+h izkr% 9 cts LFkku B ls LFkku
A dh vksj 75 fdeh@?kaVs dh xfr ls pyrh gSA crk,a fdl
le; os feysaxh \
(a) 10:00 am (b) 10:30 am
(c) 11:00 am (d) 11:30 am

98. Two men are standing on opposite ends of a
bridge 1200 metres long. If they walk towards
each other at the rate of 5m/minutes
respectively, in how much time will they meet
each other ?

nks O;fDr 1200 ehVj yEcs iqy ds foifjr fdukjksa ij [kM+s
gSaA ;fn os Øe'k% 5 eh@ls dh xfr ls ,d nwljs dh vksj pyuk
izkjEHk djsa rks os vkil esa feyus esa fdruk le; ysxsa \
(a) 60  minutes (b) 120 minutes
(c) 85 minutes (d) 90 minutes

99. How many seconds will a 500 metre long train
take to cross a man walking with a speed of 3
km/hr in the direction of the moving train if the
speed of the train 63 km/hr ?

,d 500 ehVj yEch jsyxkM+h 63 fdeh@?kaVs dh xfr ls py
jgh gS jsyxkM+h dh gh fn'kk esa 3 fdeh@?kaVs dh xfr ls tk jgs
O;fDr dks ikj djus esa mls fdruk le; yxsxk \
(a) 25 sec (b) 30 sec
(c) 40 sec (d) 45 sec

100. A thief is noticed by a policeman from a distance
of 200 m, the thief starts running and the
policeman chases him. The thief and the
policeman run at the rate of 10 km/hr and
11 km/hr respectively. What is the distance
between them after 6 minutes ?

,d iqfylokyk vius ls 200 ehVj dh nwjh ij ,d pksj dks
ns[krk gSA og pksj dk ihNk djuk izkjEHk djrk gSA pksj rFkk
iqfylokyk Øe'k% 10 fdeh@?kaVk rFkk 11 fdeh@?kaVk dh xfr
ls nkSM+rs gSaA 6 feuV ckn muds chp fdruh nwjh gksxh ?

(a) 100 m (b) 190 m
(c) 200 m (d) 150 m

101. Two trains, one 160 m and the other 140 m long
are running in opposite directions on parallel
rails, the first at 77 km an hour and the other
at 67 km an hour. How long will they take to
cross each other ?

nks jsyxkfM+;k¡ ftudh yEckbZ;k¡ Øe'k% 160 ehVj rFkk 140

ehVj gS] foijhr fn'kk esa lekUrj iVfj;ksa ij py jgh gSaA
mudh xfr;k¡ Øe'k% 77 fdeh@?kaVk rFkk 67 fdeh@?kaVk gSA
,d&nwljs dks ikj djus esa os fdruk le; ysaxh \
(a) 7 seconds (b) 7½ seconds
(c) 6 seconds (d) 10 seconds

102. Two trains are running in opposite direction with
the same speed. If the length of each train is
120 metres and they cross each other in 12
seconds. The speed of each train (in km/hour)
is ?

nks jsyxkfM+;k¡ ,d leku xfr ls py jgh gSaA foijhr fn'kkvksa
esa pyrs gq, os ,d nwljs dks ikj djus esa 12 lsds.M dk le;
ysrh gSaA izR;sd jsyxkM+h dh xfr (fdeh@?kaVk) crk;sa tcfd
nksuksa jsyxkfM+;k¡ leku yEckbZ 120 ehVj dh gS \
(a) 72 (b) 10
(c) 36 (d) 18

103. A moving train, 66 metres long overtakes another
train of 88 metres long, moving in the same
direction in 0.4168 minutes. If the second train
is moving at 30 km/hr at what speed is the first
train moving ?

,d 66 ehVj yEch jsyxkM+h leku fn'kk esa py jgh 88 ehVj
yEch jsyxkM+h dks ikj djus esa 0.4168 feuV dk le; ysrh
gSA ;fn f}rh; jsyxkM+h dh xfr 30 fdeh@?kaVk gks rks igyh
jsyxkM+h dh xfr crk;sa \
(a) 85 km/hr (b) 52 km/hr
(c) 55 km/hr (d) 25 km/hr

104. A constable is 114 metres behind a thief. The
constable runs 21 metres per minutes and the
thief runs 15 metres in a minute. In what time
will the constable catch the thief ?

,d iqfylokyk ,d Hkkxrs gq, pksj ls 114 ehVj ihNs gSA
iqfylokys rFkk pksj dh xfr;k¡ Øe'k% 21 eh@fe rFkk 15

eh@fe gSA fdrus le; esa iqfylokyk pksj dks idM+ ysxk \
(a) 19 minutes (b) 18 minutes
(c) 17 minutes (d) 16 minutes

105. A, B and C start at the same time in the same
direction to run around a circular stadium. A
completes a round in 252 seconds, B in 308
seconds and C in 198 seconds. All starting at
the same point. After what time will they next
meet at the starting point again ?

A, B rFkk C ,d o`Ùkkdkj ?ksjs ds pkjksa vksj pDdj yxkus ds
fy;s fu;r le; ij] ,d gh LFkku ls pyuk izkjEHk djrh gSaA
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A ,d pDdj 252 lsds.M esa] B 308 lsds.M esa rFkk C,

198 lsds.M esa viuk pDdj iwjk djrh gSaA fdrus le; ckn
os iqu% izkjafHkd fcUnq ij feysaxh \
(a) 46 min 12 sec (b) 45 minutes
(c) 42 min 36 sec (d) 26 min 18 sec

106. Two trains 140 m and 160 m long run at the
speed of 60 km/hr, and 40 km/hr respectively in
opposite directions on parallel tracks. The time
(in seconds) which they take to cross each other
is ?

nks jsyxkfM+;k¡ ftudh yEckbZ;k¡ Øe'k% 140 ehVj rFkk 160

ehVj gSA foijhr fn'kkvksa esa py jgh gSaA mudh xfr;k¡ Øe'k%
60 fdeh@?kaVk rFkk 40 fdeh@?kaVk gSA crk,a ,d&nwljs dks ikj
djus esa mUgs fdruk le; yxsxk \
(a) 10 sec (b) 10.8 sec
(c) 9 sec (d) 9.6 sec

107. Two trains of equal length take 10 seconds and
15 seconds respectively to cross a telegraph post.
If the length of each train be 120 metres, in what
time (in seconds) will they cross each other
travelling in opposite direction ?

nks leku yEckbZ dh jsyxkfM+;k¡ ,d [kaHks dks ikj djus esa
Øe'k% 10 rFkk 15 lsds.M dk le; ysrh gSaA ;fn izR;sd dh
yEckbZ 120 ehVj gks rks crk,a foijhr fn'kkvksa esa pyrs gq,
os ,d&nwljs dks ikj djus esa fdruk le; (lsds.M esa) ysaxh
\

(a) 16 (b) 15
(c) 12 (d) 10

108. How much time does a train 50 metre long,
moving at 68 km/hr take to pass another train
75 meter long moving at 50 km/hr in the same
direction ?

,d 50 ehVj yEch jsyxkM+h 68 fdeh@?kaVk dh xfr ls py
jgh gSA mldk lekUrj iVjh ij leku fn'kk esa nwljh 75 ehVj
yEch jsyxkM+h 50 fdeh@?kaVk dh xfr ls py jgh gSA igyh
jsy] nwljh jsy dks fdrus le; esa ikj djsxh \
(a) 5 sec (b) 10 sec
(c) 20 sec (d) 25 sec

109. A constable follows a thief who is 200 m ahead
of the constable. If the constable and the thief
run at speed of 8 km/hr and 7 km/hr
respectively, the constable would catch the thief
in ?

,d iqfylokyk vius ls 200 ehVj vkxs Hkkx jgs pksj dk
ihNk dj jgk gSA ;fn iqfyl okys rFkk pksj dh xfr;k¡ Øe'k%
8 fdeh@?kaVk rFkk 7 fdeh@?kaVk gS rks crk;sa fdrus le; esa
iqfyl okyk pksj dks idM+ ysxk \
(a) 10 minutes (b) 12 minutes
(c) 15 minutes (d) 20 minutes

110. Two trains are running with speed 30 km/hr and
58 km/hr in the same direction. A man in the

slower train passes the faster train 18 seconds.
The length (in metres) of the faster train is  ?

nks jsyxkfM+;k¡ ,d leku fn'kk esa lekUrj iVfj;ksa ij Øe'k%
30 fdeh@?kaVk rFkk 58 fdeh@?kaVk dh xfr ls py jgh gSaA /
heh jsyxkM+h esa cSBs ,d O;fDr dks rst xfr ls pyus okyh
jsy ikj djus esa 18 lsds.M dk le; yxrk gSA rst pyus
okyh jsyxkM+h dh yEckbZ (ehVj esa) crk;sa \
(a) 70 (b) 100
(c) 128 (d) 140

111. A walks at a uniform rate of 4 km an hour; and
4 hours after his start, B bicycles after him at
the uniform rate of 10 km an hour. How far from
the starting point will B catch A ?

A 4 fdeh@?kaVk dh xfr ls pyuk izkjEHk djrk gSA 4 ?kaVs ckn
B mlds ihNs 10 fdeh@?kaVk dh xfr ls lkbZfdy pykrk gqvk
tkrk gSA vkjfEHkd nwjh ls fdruh nwj ij os nksuksa feysxsa \
(a) 16.7  km (b) 18.6 km
(c) 21.5 km (d) 26.7 km

112. A train passes two persons walking in the same
direction at a speed of 3 km/hr. and 5 km/hr.
respectively in 10 seconds and 11 seconds
respectively. The speed of the train is ?

,d xfreku jsyxkM+h viuh gh fn'kk esa Øe'k% 3 fdeh@?kaVk
rFkk 5 fdeh@?kaVk dh xfr ls nkSM+us okys nks O;fDr;ksa dks ikj
djus esa Øe'k% 10 lsds.M rFkk 11 lsds.M dk le; ysrh
gSA jsy dh xfr crk;sa \
(a) 28 km/hr (b) 27 km/hr
(c) 25 km/hr (d) 24 km/hr

113. Two trains start at the same time for two station
A and B toward B and A respectively. If the
distance between A and B is 220 km and their
speeds are 50 km/hr and 60 km/hr respectively
then after how much time will they meet each
other ?

nks jsyxkfM+;k¡ LVs'ku A rFkk B ls ,d&nwljs dh vksj pyuk
izkjaHk djrh gS ;fn mudh xfr Øe'k% 50 fdeh izfr ?kaVk rFkk
60 fdeh izfr ?kaVk gS vkSj A rFkk B ds chp dh nwjh 220

fdeh gS rks os fdruh nsj ckn ,d&nwljs ls feysxh \
(a) 2 hours (b) 2½ hours
(c) 3 hours (d) 1 hour

114. A man standing on a platform finds that a train
takes 3 seconds to pass him and another train
of the same length moving in the opposite
direction, takes 4 seconds. The time taken by
the trains to pass each other will be ?

jsyos IysViQkeZ ij [kM+s ,d O;fDr us vuqHko fd;k fd ,d
xfreku jsy mls ikj djus esa 3 lsds.M dk le; ysrh gSA
tcfd foijhr fn'kk ls viuh vksj vkus okyh nwljh jsy mls
ikj djus esa 4 lsds.M dk le; ysrh gSA nksuksa jsyxkfM+;ksa }kjk
,d nwljs dks ikj djus esa yxk le; crk;sa ?
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3

7
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(c) 4
3

7
 seconds (d) 5

3

7
 seconds

115. Two trains 105 metres and 90 metres long runs
at the speed of 45 km/hr and 72 km/hr
respectively, in opposite directions on parallel
tracks. The time which they take to cross each
other is ?

105 ehVj rFkk 90 ehVj yEckbZ;ksa okyh nks jsyxkfM+;k¡ Øe'k%
45 fdeh@?kaVk rFkk 72 fdeh@?kaVk dh xfr ls py jgh gSaA ;fn
os lekUrj iVfj;ksa ij foijhr fn'kk esa pys rks ,d&nwljs dks
ikj djus esa fdruk le; ysaxh ?

(a) 8 seconds (b) 6 seconds
(c) 7 seconds (d) 5 seconds

116. Two trains travel in the same direction at the
speed of 56 km/hr ad 29 km/hr respectively. The
faster train passes a man in the slower train in
10 seconds. The length of the faster train (in
metres) is ?

nks jsyxkfM+;k¡ lekUrj iVfj;ksa ij ,d leku fn'kk esa Øe'k%
56 fdeh@?kaVk rFkk 29 fdeh@?kaVk dh xfr ls py jgh gSaA rst
jsyxkM+h èkheh xfr okyh jsyxkM+h esa cSBs ,d O;fDr dks ikj
djus esa 10 lsds.M dk le; ysrh gSA rst pyus okyh
jsyxkM+h dh yEckbZ (ehVj esa) crk;sa ?
(a) 100 (b) 80
(c) 75 (d) 120

117. Two trains of equal length, running in opposite
directions, pass a pole in 18 and 12 seconds.
The trains will cross each other in ?

nks leku yEckbZ;ksa dh jsyxkfM+;k¡ ,d&nwljs dh foijhr fn'kk
esa pyrs gq,] ,d [kaHks dks Øe'k% 18 lsds.M rFkk 12

lsds.M esa ikj dj ysrh gSaA os ,d&nwljs dks ikj djus esa
fdruk le; ysaxh ?
(a) 14.4 seconds (b) 15.5 seconds
(c) 18.8 seconds (d) 20.2 seconds

118. A train, 150 m long, passes a pole in 15 seconds
and another train of the same length travelling
in the opposite direction in 12 seconds. The speed
of the second train is ?

150 ehVj yEckbZ okyh ,d jsyxkM+h ,d [kEHks dks ikj djus
esa 15 lsds.M rFkk nwljh fn'kk ls vk jgh jsyxkM+h dks ikj
djus esa 12 lsds.M dk le; ysrh gSA ;fn nksuksa jsyxkfM+;ksa dh
yEckbZ leku gks rks nwljh jsyxkM+h dh xfr crk;sa ?
(a) 45 km/hr (b) 48 km/hr
(c) 52 km/hr (d) 54 km/hr

119. A train travelling at 48 km/hr crosses another
train, having half its length and travelling in
opposite direction at 42 km/hr, in 12 seconds.
It also passes a railway platform in 45 seconds.

The length of the railway platform is ?

48 fdeh@?kaVk dh xfr ls pyus okyh ,d jsyxkM+h Lo;a dh
vk/h yEckbZ okyh ,d vU; jsyxkM+h tks 42 fdeh@?kaVk ls
mldh foijhr fn'kk esa py jgh gS] dks ikj djus esa 12

lsds.M dk le; ysrh gSA ;g jsyxkM+h ,d IysViQkeZ dks 45

lsds.M esa ikj djrh gSA IysViQkeZ dh yEckbZ crk;sa ?
(a) 200 m (b) 300 m
(c) 350 m (d) 400 m

120. A bus moving at a speed of 45 km/hr overtakes a
truck 150 metres ahead going in the same
direction in 30 seconds. The speed of the truck
is ?

45 fdeh@?kaVk dh xfr ls pyrs gq, ,d cl] Lo;a ls 150

ehVj vkxs tk jgs Vªd dks ikj djus esa 30 lsds.M dk le;
ysrh gSA Vªd dh xfr crk;sa (fdeh@?kaVk) esa ?
(a) Rs. 540 (b) Rs. 318
(c) Rs. 600 (d) Rs. 350

121. A passenger train 150 m long is travelling with a
speed of 36 km/hr. If a man is cycling in the
direction of train at 9 km/hr., the time taken by
the train to pass the man is ?

,d 150 ehVj yEch jsyxkM+h 36 fdeh@?kaVk dh xfr ls py
jgh gSA jsyxkM+h dh fn'kk esa 9 fdeh@?kaVk dh xfr ls lkbZfdy
pyk jgs O;fDr dks ikj djus esa fy;k x;k le; crk;sa ?
(a) 10 seconds (b) 15 seconds
(c) 18 seconds (d) 20 seconds

122. A constant distance from Chennai to Bangalore
is covered by a person who also returns to the
same distance at 80 km/hr, then the average
speed during the whole journey is ?

,d O;fDr ,d fuf'pr nwjh psUubZ ls caxykSj rd tkus rFkk
okil vkus esa fu;r xfr 80 fdeh@?kaVs dk iz;ksx djrk gSA
dqy ;k=kk esa vkSlr xfr crk;sa ?
(a) 90.20 km/hr (b) 88.78 km/hr
(c) 80 km/hr (d) 88.89 km/hr

123. A jeep is chasing a car which is 5 km ahead.
Their respective speed are 90 km/hr and 75 km/
hr. After how many minutes will the jeep catch
the car ?

,d thi Lo;a ls 5 fdeh vkxs tk jgh dkj dk ihNk dj jgh
gSA mudh xfr;k¡ Øe'k% 90 fdeh@?kaVk rFkk 75 fdeh@?kaVk gSA
fdrus le; ckn thi dkj dks idM+ ysxh ?
(a) 18 min (b) 20 min
(c) 24 min (d) 25 min

124. Buses start from a bus terminal with a speed of
20 km/hr at intervals of 10 minutes. What is
the speed of a man coming from the opposite
direction towards the bus terminal. If he meets
the buses at intervals of 8 minutes ?

,d cl VfeZuy ls izR;sd 10 feuV ds varjky ij 20

fdeh@?kaVk dh xfr ls clsa NwVrh gSA foijhr fn'kk ls cl
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VfeZuy dh vksj vkus okys ,d O;fDr dks ;s clsa 8 feuV ds
varjky ij feyrh gSaA O;fDr dh xfr crk;sa ?
(a) 3 km/hr (b) 4 km/hr
(c) 5 km/hr (d) 7 km/hr

125. A train 300 m long passed a man walking along
the line in the same direction at the rate of 3
km/hr in 33 seconds. The speed of the train is ?

,d 300 ehVj yEckbZ dh xfreku jsyxkM+h leku fn'kk esa 3
fdeh@?kaVk dh xfr ls py jgs ,d O;fDr dks ikj djus esa
33 lsds.M dk le; ysrh gSA jsyxkM+h dh xfr crk;sa ?

(a) 30 km/hr (b) 32 km/hr

(c) 32
8

11
 km/hr (d) 35

8

11
 km/hr

126. A train, 240 m long crosses a man walking along
the line in opposite direction at the rate of 3
kmph in 10 seconds. The speed of the train is ?

,d 240 ehVj yEckbZ dh jsyxkM+h foijhr fn'kk ls vk jgs
3 fdeh@?kaVk dh xfr okys O;fDr dks 10 lsds.M esa ikj djrh
gSA jsyxkM+h dh xfr crk,a ?
(a) 63 kmph (b) 75 kmph
(c) 83.4 kmph (d) 86.4 kmph

127. Two trains of length 70 m and 80 m are running
at speed of 68 km/hr and 40 km/hr respectively
on parallel tracks in opposite directions. In how
many seconds will they pass each other ?

nks jsyxkfM+;k¡ ftudh yEckbZ;k¡ 70 ehVj rFkk 80 ehVj gS
Øe'k% 68 fdeh@?kaVk rFkk 40 fdeh@?kaVk dh jÝrkj ls ,d&nwljs
ds foijhr fn'kk esa nkSM+ jgh gSaA os fdruh nsj esa ,d&nwljs dks
ikj djsaxh ?
(a) 10 sec (b) 8 sec
(c) 5 sec (d) 3 sec

128. Two trains of length 137 metre and 163 metre
are running with speed of 42 km/hr and 48 km/
hr respectively towards each other on parallel
tracks. In how many seconds will they cross each
other ?

nks jsyxkfM+;k¡ ftudh yEckbZ;k¡ Øe'k% 137 ehVj rFkk 163

ehVj gS rFkk mudh pky Øe'k% 42 fdeh@?kaVk o 48

fdeh@?kaVk gSA nksuksa jsyxkfM+;k¡ ,d nwljs ds foijhr fn'kk ls vk
jgh gSA fdrus le; esa os ,d&nwljs dks ikj djsaxh ?
(a) 30 sec (b) 24 sec
(c) 12 sec (d) 10 sec

129. Two trains, 80 m and 120 m long are running at
the speed of 25 km/hr and 35 km/hr respectively
in the same direction on parallel tracks. How
many seconds will they take to pass each other ?

80 ehVj rFkk 120 ehVj yEckbZ dh nks jsyxkfM+;k¡ Øe'k% 25

fdeh@?kaVk rFkk 35 fdeh@?kaVk dh xfr ls py jgh gSaA ;fn os
lekUrj iVfj;ksa ij leku fn'kk esa py jgh gks rks ,d&nwljs
dks ikj djus esa muds }kjk fdruk le; (lsds.M esa) fy;k

tk;sxk ?
(a) 48 (b) 64
(c) 70 (d) 72

130. A train 100 metres long meets a man going in
opposite direction at 5 km/hr and passes him in
7 seconds. What is the speed of the train (in
km/hr) ?

,d 100 ehVj yEch jsyxkM+h foijhr fn'kk esa 5 fdeh@?kaVk
dh xfr ls vk jgs ,d O;fDr dks 7 lsds.M esa ikj djrh gSA
jsyxkM+h dh xfr crk;s (fdeh@?kaVk) esa ?
(a) 45 km/hr (b) 60 km/hr
(c) 55 km/hr (d) 50 km/hr

131. Two trains of equal length are running on parallel
lines in the same direction at 46 km/hr and 36
km/hr. The faster train passes the slower train
in 36 seconds. The length of each train is ?

leku yEckbZ dh nks jsyxkfM+;k¡ lekUrj iVfj;ksa ij] ,d gh
fn'kk esa Øe'k% 46 fdeh@?kaVk rFkk 36 fdeh@?kaVk dh xfr ls
xfreku gSA rst xfr ls pyus okyh jsyxkM+h /heh xfr ls
pyus okyh jsyxkM+h dks 36 lsds.M esa ikj dj ysrh gSA izR;sd
jsyxkM+h dh yEckbZ crk;sa ?
(a) 82 m (b) 50 m
(c) 80 m (d) 72 m

132. Two trains start from a certain place on two
parallel tracks in the same direction. The speed
of the trains are 45 km/hr and 40 km/hr
respectively. The distance between the two trains
after 45 minutes will be ?

nks jsyxkfM+;k¡ lekUrj iVfj;ksa ij leku fn'kk esa py jgh gSaA
mudh xfr;k¡ Øe'k% 45 fdeh@?kaVk rFkk 40 fdeh@?kaVk gSA 45

feuV ds ckn] mu nksuksa jsyxkfM+;ksa ds chp dh nwjh crk;sa ?
(a) 2 km 500 m (b) 2 km 750 m
(c) 3 km 750 m (d) 3 km 250 m

133. Points 'A' and 'B' are 70 km apart on a highway
and two cars start at the same time. If they travel
in the same direction, they meet in 7 hours, but
if they travel towards each other they meet in
one hour. Find the speed of the two cars (in km/
hr) ?

nks LFkkuksa 'A' rFkk 'B' ds chp dh nwjh 70 fdeh gSA nks dkjsa
,d gh le; pyuk izkjEHk djrh gSaA ;fn os ,d gh fn'kk esa
pysa rks 7 ?kaVksa esa feyrh gSaA fdUrq ;fn os foijhr fn'kkvksa esa
pyuk izkjEHk djsa rks os ,d ?kaVs ckn feyrh gSaA crk;sa nksuksa
dkjksa dh xfr;k¡ fdruh gksxh ?
(a) 20, 30 (b) 40, 30
(c) 30, 50 (d) 20, 40

134. P and Q are 27 km away. Two trains with speed
of 24 km/hr and 18 km/hr respectively start
simultaneously from P and Q are travel in the
same direction. They meet at a point R beyond
Q. Distance Q to R is ?

'P' rFkk 'Q' ,d nwljs ls 27 fdeh- nwj gSA nks jsyxkfM+;k¡
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Øe'k% LFkku 'P' rFkk 'Q' ls Øe'k% 24 fdeh@?kaVk rFkk 18

fdeh@?kaVk dh xfr ls ,d gh vksj pyuk izkjEHk djrh gSaA os
'Q' ls nwj ,d fcUnq 'R' ij feyrh gSaA crk;sa Q rFkk R dh
nwjh D;k gksxh ?
(a) 126 km (b) 81 km
(c) 48 km (d) 36 km

135. Sarita and Julie start walking from the same
place in the opposite directions. If Julie walks
at a speed of 2½ km/hr and Sarita at a speed of
2 km/hr, in how much time will they be 18 km
apart ?

lfjrk vkSj twyh ,d gh fcUnq ls ,d gh le; ij foijhr
fn'kkvksa esa pyuk izkjEHk djrh gSaA ;fn mudh xfr;k¡ Øe'k%
2½ fdeh@?kaVk rFkk 2 fdeh@?kaVk gksa rks fdrus le; ckn muds
chp dh nwjh 18 fdeh gks tk;sxh ?
(a) 4.0 hours (b) 4.5 hours
(c) 5.0 hours (d) 4.8 hours

136. Two trains 108 m and 112 m in length are
running towards each other on the parallel lines
at a speed of 45 km/hr and 54 km/hr
respectively. To cross each other after they meet,
it will take ?

108 ehVj rFkk 112 ehVj yackb;ksa okyh nks jsyxkfM+;k¡ ,d&nwljs
dh vksj lekUrj iVfj;ksa ij Øe'k% 45 fdeh izfr?kaVk rFkk
54 fdeh izfr?kaVk dh xfr;ksa ls py jgh gSaA ,d&nwljs dks ikj
djus esa mUgsa fdruk le; yxsxk ?

(a) 12 sec (b) 9 sec
(c) 8 sec (d) 10 sec

137. Two trains 150 m and 120 m long respectively
moving from opposite directions cross each other
in 10 secs. If the speed of the second train is
43.2 km/hr. then the speed of the first train is ?

nks jsyxkfM+;k¡] tks Øe'k% 150 ehVj rFkk 120 ehVj yEch gSa
foijhr fn'kk ls vkrs gq, ,d&nwljs dks 10 lsds.M esa ikj
djrh gSaA ;fn ,d jsyxkM+h dh xfr 43.2 fdeh izfr?kaVk gS
rks nwljh dh xfr Kkr djsa ?
(a) 54 km/hr (b) 50 km/hr
(c) 52 km/hr (d) 51 km/hr

138. Two trains, each of length 125 metre, are running
in parallel tracks in opposite directions. One
train is running at a speed 65 km/hr and they
cross each other in 6 seconds. The speed of the
other train is ?

125 ehVj izR;sd leku yEckbZ dh nks jsyxkfM+;k¡ lekUrj
iVfj;ksa ij foijhr fn'kkvksa ls py jgh gSaA igyh jsyxkM+h 65

fdeh izfr ?kaVk dh xfr ls py jgh gS rFkk ,d&nwljs dks ikj
djus esa mUgsa 6 lsds.M dk le; yxrk gSA rks nwljh jsyxkM+h
dh xfr crk,a ?
(a) 75 km/hr (b) 85 km/hr
(c) 95 km/hr (d) 105 km/hr

139. A boy started from his house by bicycle at 10 am

at a speed of 12 km per hour. His elder brother
started after 1 hr 15 min by scooter along the
same path and caught him at 1.30 pm. The speed
of the scooter will be (in km/hr) ?

,d yM+dk vius ?kj ls lqcg 10 cts] 12 fdeh izfr ?kaVk
dh xfr ls pyuk izkjEHk djrk gSA mldk HkkbZ mlls 1 ?k.Vs
15 feuV ckn LdwVj ls mlh jkLrs ij pydj vius NksVs HkkbZ
dks nksigj 1:30 cts idM+ ysrk gSA LdwVj dh xfr crk,a ?
(fdeh izfr ?kaVs esa)
(a) 4.5 (b) 36

(c) 18
2

3
(d) 9

140. A policeman goes after a thief who has 100
metres start, if the policeman runs a kilometre
in 8 min, and the thief a km in 10 min, the
distance covered by thief before he is over-take
is ?

,d iqfyl okyk ,d pksj dks tks mlls 100 ehVj vkxs gS
idM+uk pkyw djrk gSA ;fn iqfyl okyk 9 feuV esa 1

fdyksehVj rFkk pksj 10 feuV esa 1 fdyks ehVj dh nwjh r;
djrk gS rks crk,a dh idM+s tkus ls igys pksj fdruh nwjh r;
dj ysxk ?
(a) 350 m (b) 400 m
(c) 320 m (d) 420 m

141. Two trains are running 40 km/hr and 20 km/hr
respectively in the same direction. The fast train
completely passes a man sitting in the slower
train in 5 seconds. The length of the fast train
is ?

40 fdeh@?kaVk rFkk 20 fdeh@?kaVk dh pky ls nks jsyxkfM+;k¡
leku fn'kk esa nkSM+ jgh gSaA rst pyus okyh jsyxkM+h /hjs pyus
okyh jsyxkM+h esa cSBs fdlh O;fDr dks 5 lsds.M esa ikj dj
ysrh gS] rks rst pyus okyh jsyxkM+h dh yackbZ D;k gS ?

(a) 23
2

9
 m (b) 27 m

(c) 27
7

9
 m (d) 23 m

142. Two trains 180 metres and 120 metres in length
are running towards each other o parallel tracks,
one at the rate 65 km/hr and another at 55 km/
hour. In how many second will they be clear of
each other from the moment they meet ?

nks jsyxkfM+;k¡ ftudh yEckbZ Øe'k% 180 ehVj rFkk 120

ehVj gSA lekUrj iVfj;ksa ij foijhr fn'kkvksa esa nkSM+ jgh gSaA
mudh xfr;k¡ Øe'k% 65 fdeh@?kaVk rFkk 55 fdeh@?kaVk gSA
feyus ds fdrus le; (lsds.M esa) ckn os ,d&nwljs dks ikj
dj ik,axh ?
(a) 6 (b) 9
(c) 12 (d) 15
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143. Two trains of same length, are running on parallel
tracks in the same direction with speed 60 km/
hour and 90 km/hour respectively. The latter
completely crosses the former in 30 seconds. The
length of each trains (in metres) is ?

nks leku yEckbZ dh jsyxkfM+;k¡ leku fn'kk esa 60 fdeh
izfr?kaVk rFkk 90 fdeh izfr?kaVk dh xfr ls nkSM+ jgh gSaA ;fn
os ,d&nwljs dks ikj djus esa 30 lsds.M dk le; ys rks
izR;sd dh yEckbZ (ehVj esa) crk,a ?
(a) 125 (b) 150
(c) 100 (d) 115

144. Two trains 125 metres and 115 metres in length,
are running towards each other on parallel lines,
one at the rate of 33 km/hr and the other at 39
km/hr. How much time (in seconds) will they
take to pass each other from the moment they
meet ?

125 ehVj rFkk 115 ehVj dh yEckbZ okyh nks jsyxkM+h
,d&nwljs dh vksj 33 fdeh izfr ?kaVk rFkk 39 fdeh izfr ?kaVk
dh jÝrkj ls nkSM+ jgh gSaA nksuksa ,d&nwljs dks fdruh nsj
(lsds.M esa) ikj djsaxh ?

(a) 8 (b) 10
(c) 12 (d) 15

145. A thief steals a car at 1:30 pm and drive it off at
40 km/hr. The theft is discovered at  2 pm and
the owner sets off in another car at 50 km/hr he
will overtake the thief at ?

,d pksj 1:30 cts nksigj ,d dkj pksjh djrk gS rFkk 40

fdeh@?kaVk dh jÝrkj ls Hkkxuk pkyw djrk gSA ekfyd 50

fdeh@?kaVk dh jÝrkj ls 2:00 cts nksigj ij mldk ihNk
djrk gSA og mls fdl le; idM+ ysxk ?

(a) 5:00 pm (b) 4:00 pm
(c) 4:30 pm (d) 6:00 pm

146. Two trains 100 metres and 95 metres long
respectively pass each other in 27 seconds when
they run in the same direction and in 9 seconds
when they run in opposite directions. Speed of
the two trains are ?

nks jsyxkfM+;k¡ ftudh yEckbZ;k¡ Øe'k% 100 ehVj rFkk 95

ehVj gS leku fn'kkvksa esa pyrs gq, ,d nwljs dks ikj djus
esa 27 lsds.M dk le; ysrh gSaA ijUrq ;s foijhr fn'kkvksa esa
pys rks ikj djus esa dsoy 9 lsds.M dk le; ysrh gSA izR;sd
jsyxkM+h dh xfr crk,a ?
(a) 44 km/hr, 22 km/hr (b) 52 km/hr, 26 km/hr
(c) 36 km/hr, 18 km/hr (d) 40 km/hr, 20 km/hr

147. Motor-cyclist P started his journey at a speed of
30 km/hr. After 30 minutes, motor-cyclist Q
started from the same place but with a speed of
40 km/hr. How much time (in hours) will Q take
to overtake P ?

,d eksVj lkbfdy okyk P, 30 fdeh@?kaVk dh xfr ls pyuk
pkyw djrk gS rFkk 30 feuV ckn Q, 40 fdeh@?kaVk dh jÝrkj
ls mldk ihNk djrk gSA og fdruh nsj (?kaVs esa) ckn P dks
idM+ ysxk ?

(a) 1 (b) 
3

2

(c) 
3

8
(d) 2

148. A train running at the speed of 84 km/hr passes
a man walking in opposite direction at the speed
of 6 km/hr in 4 seconds. What is the length of
train (in metre) ?

84 fdeh@?kaVs dh xfr ls pyus okyh ,d jsyxkM+h] viuh
foijhr fn'kk esa 6 fdeh@?kaVk dh xfr ls py jgs O;fDr dks
4 lsds.M esa ikj dj ysrh gSA crk,a jsyxkM+h dh yEckbZ (ehVj
esa) D;k gS ?
(a) 150 (b) 120
(c) 100 (d) 90

149. A and B are 20 km apart, A can walk at an
average speed of 4 km/hr and B at 6 km/hr. If
they start walking towards each other at 7:00
am when they will meet ?

A rFkk B nks LFkku ,d&nwljs ls 20 fdeh dh nwjh ij gSaA nks
O;fDr Øe'k% A rFkk B LFkku ls ,d&nwljs dh vksj izkr%
7:00 cts pyuk izkjaHk djrs gSaA mudh xfr;k¡ Øe'k% 4

fdeh@?kaVk rFkk 6 fdeh@?kaVk gks] rks crkvks os fdrus cts
feysaxs ?
(a) 8:00 am (b) 8:30 am
(c) 9:00 am (d) 10:00 am

150. Two trains of equal length are running on parallel
lines in the same direction at the rate of 46 km/
hr and 36 km/hr. The faster train passes the
slower train in 36 seconds. The length of each
train is ?

nks leku yEckbZ dh jsyxkfM+;k¡ lekUrj iVfj;ksa ij ,d gh
fn'kk esa Øe'k% 46 rFkk 36 fdeh@?kaVk dh xfr ls py jgh
gSA os ,d&nwljs dks 36 lsds.M esa ikj dj ldrh gSaA izR;sd
jsyxkM+h dh yackbZ crk,a ?
(a) 50 m (b) 72 m

(c) 80 m (d) 82 m
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Answer Sheet

1. (b) 2. (d) 3. (c) 4. (c) 5. (d) 6. (b) 7. (c) 8. (d) 9. (d) 10. (d)

11. (b) 12. (c) 13. (b) 14. (a) 15. (c) 16. (b) 17. (d) 18. (d) 19. (c) 20. (d)

21. (d) 22. (d) 23. (d) 24. (a) 25. (c) 26. (b) 27. (c) 28. (b) 29. (b) 30. (a)

31. (c) 32. (c) 33. (d) 34. (a) 35. (a) 36. (d) 37. (c) 38. (d) 39. (c) 40. (a)

41. (b) 42. (b) 43. (c) 44. (b) 45. (c) 46. (d) 47. (c) 48. (a) 49. (c) 50. (b)

51. (b) 52. (d) 53. (d) 54. (b) 55. (b) 56. (c) 57. (c) 58. (b) 59. (a) 60. (c)

61. (c) 62. (b) 63. (c) 64. (a) 65. (d) 66. (a) 67. (b) 68. (c) 69. (b) 70. (b)

71. (a) 72. (b) 73. (d) 74. (a) 75. (d) 76. (c) 77. (c) 78. (a) 79. (c) 80. (a)

81. (a) 82. (d) 83. (d) 84. (c) 85. (b) 86. (a) 87. (c) 88. (a) 89. (c) 90. (a)

91. (c) 92. (d) 93. (b) 94. (b) 95. (c) 96. (c) 97. (c) 98. (b) 99. (b) 100. (a)

101. (b) 102. (c) 103. (b) 104. (a) 105. (a) 106. (b) 107. (c) 108. (d) 109. (b) 110. (d)

111. (d) 112. (c) 113. (a) 114. (b) 115. (b) 116. (c) 117. (a) 118. (d) 119. (d) 120. (a)

121. (d) 122. (c) 123. (b) 124. (c) 125. (d) 126. (c) 127. (c) 128. (c) 129. (d) 130. (a)

131. (b) 132. (c) 133. (b) 134. (b) 135. (a) 136. (c) 137. (a) 138. (b) 139. (c) 140. (b)

141. (c) 142. (b) 143. (a) 144. (c) 145. (b) 146. (b) 147. (b) 148. (c) 149. (c) 150. (a)


